1. &Exbxaxb*=a""" 4w, x-—y 9 & Fotof=h

YR
=



® 5 B 6 @ 7 B 8

A 4



3. 1x2x3x4x5x6=29%x3"x5 LW, a+b+c 2 F2?

@D 7 ® 8 3 9 @ 10 o 11



4. 2'°=1000°]2 & of, 510 9] gr2?

@ 102 4
® 10 A 10° @ 107 B 108



5. 2Mx 518 2 pxe o] Aot o] Fhe Fotola,

YER
=%



2 3 4 10 =
X1 = 97a X2 = —, X3 = —, X4 = —, *, X10 = 70]& OE]- UqL
X1 X2 X3 X9

XX X3 x10 9 = Fstofet,



® 16x%y = 2xy x 4x = 32x2



8.

ohe 419 [ ] qtell Soiz g

a6+|:]><a2 =qd°

@a @a2

® a3



9. (Gx-y+3)+Bx+2y-4)=ax+by+c2 W, a+b+c2 G2

D -4 ® -2 B 4 @ 6 B 8



10. of o4 AclA —2x+3y - 15 HSFAHY 5x -2y +30] = A
oA AE?

@ 5x-2y+4 @ 5x+3y-1 ® 5x-5y+4

@ 7x+3y+5 ® 7Tx-5y+4



11. 2y-2[x+3y-3{-2y+2(x+y)}] EA5] A= o, x o] A<}
y o Ao 27

@D =7 @ -3 3 0 @ 6 G 11



12, (2x-Ty+4)(3x+y) & AARE 0, y o A%E Tspoler

>R
2%



2
13. (4a+ 1) & WAt

)
4 1 8 1
1642 + —a + — 1642 + 2
@® 16a +45a+125 @ 16a +45a+125
4a®> + —a+ = 42 1 =
®a+5a+5 @a+5a+25

8 1
12 + S0+ —
® 4a sa+ oo



14. o5 A4 Sl 41 92 A2?

D (~x-y)?=x+2xy+)°

@ (2x+y)(y-2x) = —4x* +)°

® (x-3)(x+5)=x>+2x-15

@ (2x+ 3y)(=5x + 4y) = —10x2 + Txy + 12y?

® (Bx-2)(x—y) =3x>-3xy-2x+2y



15. (x+1)(x+3y+1)E A7sHE?

@ +x+1+xy+y @ X +2x+1+xy+2y
® x2+2x+143xy+ 2y @ x?+2x+143xy+ 3y

® x2+3x+142xy+ 2y



2011 S x 2 oto] FAl FAE 0]4-51¢] 2010 x 2012 — 2009 x 2011
Antst?

@D 4000 @ 4017 3) 4019 @ 4021 3B 4023



=4

x+y=3,xy

17.

® 25 B 7 @ 5 G 10

@D 20



L g 2ids] R W, * o] ASE Tatelet



-5fodzt,




20.

0 o] obd Al 4= x, y, z ofl thake] xy = 2

pkoltt. A= p o gh& F-shefzh

e e
=%

2

X
3

kLo, x24y2+22 =



